VAR 31 AR B LT T SR T S R B 2 R TR

TS 1EESILUTOMFHETISFERBISHO THEIZ., RIZEDD EZAITKD,

(% A 7 5
B1R mARHTEORBEIZ., mAREZALZNL 29, 900 THEED D,

#1 R
2 WMABHTEORKREOR DK OYER YT L0, TH1EF BRARHTE] ITX5,
(— 5 f& A 4)

F24k HERAIRE (M2 2FEREE675) F235503FH2HOHAEICLD —HEAEOMHEAN
OE&EMEIT. 15, 000 THEED D,

Rk 3 142 H 2 6 HfEH
G

i
=
3
xm
e
il
N

(475 58 7 45 S 2 I 2t )



(5 1 7E T 5 T 2 I ]

F1ER B AR DB TR

A (HA7 : F11)
#* H &

L " o8 kK F ¥ 29, 163
1. f# H s 29, 153

2. F % Bl 10

2. W PE I A 685
1. W E 1E i I A 685

3. fk B & 1
1. i B & 1

4. 3 I A 51
1. 78 A il + 50

2. M A 1

% A a i 29, 900




i H (Hp7r . TH1)

K H & #

1. ¥ % # 29, 700
1. # % 1 bEEE # 29, 700

2. N & # 100
1A f& # 100

3. F fii # 100
1. F fisi #y 100

% H a B 29, 900

[t 5 ENFE i 5 F 2R 25T ]




(5 1 7E T 5 T 2 I ]



w7 Eoge B R R B = R T SO



RS VAR BE e LU T M 7 e T S 3 6 Rl =

A

T N T S S T A

R
N GENL . FH)
K IO S Al E 7T H O# I LI
1. fif ! Bl M - Bl 29, 163 29, 913 AT50
2. B4 PE I A 685 635 50
3. B & 1 1 0
4. F I A 51 51 0
% A = 7 29, 900 30, 600 ATO0O
mA [ 18]




et [# 45]
Ok ) (B2 . TH)
K K OFEOE T OHE O ] BT B L L7
1. # % # 29, 700 30, 400 AT0O0
2. A & # 100 100 0
3. F fii # 100 100 0
% i =) g 29, 900 30, 600 AT0O0




2 W A
(F) 1. EHE R OFEokt

(TH) 1. fEAE (HAL . TH)
i
H A OEOE | BT FEOE R % i P B !
1. i Ak 25, 682 26, 432 AT50| 1. 0 55E L EE Ak 10,500 Hudl s 7, 000, 0001
fEAEIR  1.5/1, 000
2. THEFIEE R 6,018
3. EEFB T B 1,401
4. B fE B 396
5. 0 e R AR 2, 059
6. FHATERL AR 638
7. FOMAE R 4, 670
2. B R A 1,082 1,082 0 1. &E=M R 10
2. FHPTHE AR 972
3. OfhEAE R 100
3. oMl R 1,787 1,787 0| 1. -HufE AR 1,787
4. BEEGAE AR 602 602 0 1. BRECG6E Ak 602
7t 29, 153 29, 903 AT50
GR) 1. fEARER OVFEos
(T8) 2. FHckt
i
H AR OAEOE | T FEOE g % N P B B
L. MissFHECE 10 10 0 1. B ANFFAIFEckH 10
it 10 10

N [T EIE T R 2]




N [T ESE TS S R 2R ]

) 2. WEERA

(FH) 1. JEEE I

Varim

Bl
H E | mi JE e 15 % i P i A
1. FF R OEL Y 4 685 635 50| 1. FF KO Y 4 685 | Hit 7 178 T 3 #E i FE A A 685
= 685 635 50
GK) 3. b4
(TE) 1. fuBisr
i
H | Al i3 b 103 % . P B A
1. fMeflia 1 1 0 HITAFE B A 4 1
&t 1 1 0
GR) 4. FHBIA
(I®) 1. &1
i
B E | Hi E e 5 < N P B B
1. FE4&FH] T 50 50 0 TESRF] T 50
3t 50 50 0
GKR) 4. FBIA
(TA) 2. HEA
i
H | i i = % N P i ]
1. HEA 1 1 0 — R HEN 1
2 1 1 0




w
— 3k
EE

() Bt
(TH) 1. HBEME (HAL - T1)
i
H AR OEOE | oA FOE ke 5 % N P E BH
1. — s 29, 700 30, 400 AT00| 1. AN 128 & Wik & B 7N
8. W 120|514 120
9. k% 40 | X 358 ik 40
11. EE/HE 70| HEESL B 20
Pl A 50
12. %% 189 | 'k SRRt 189
13. ZFtkt 25, 520 |5 & & L RLR 25, 520
14. ﬁﬂﬂﬂﬁm = Rk 3| g ok 3
15. THiHEAE 1, 000 | fiti 3% B i 1T 2%
19. A4, B KOt 30| EEA MG ER T Es A4S 30
&
25. FENLA: 2, 300 | Hit 5 5T T 538 R A FE ST 4> 2, 300
27. NFRER 300 |{HE B 300
3 29, 700 30, 400 AT00
G 2. IME#E
(IE) 1. NME#E
i
H A OHE O | ORT FE ke 5 < N P B H
1. ¥+ 100 100 0| 23. fE&EE, Fl1 K OES 100 | —RefE A& F1|-1- 100
s
7 100 100 0
e [MOFEE SRS ET])




mc (M7 EISE T SR ]

(#) 3. Tk

(H) 1. Tl

H B | Hi i3 L% &
1. TH#E 100 100
2 100 100




1. Repilik
ia 5. %
X 53 I B %% . | BERFY X Fem Z DAt - L HEE | A 7
: ) b FY 2
B P # GERISEH ) T F Y DFY
A T T wsam TH M T M TH T T
& &=
i 5
AAEJE B
Z DA D
7 128 128 128
¥r Bl T
7t 7 128 128 128
(4.354%)
& %
i |
%O){Mf 8 146 146 146
e B Wk
7t 8 146 146 146
s 3
7 =
wow
Z DA D
A1 A 18 A 18 A 18
¥r Bl T
7 A1 A 18 A 18 A 18

LS UL PO S F PR e S TIPS




e b I LRI R R o IR |





